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Question Paper Code : 2033
B.Com. (Part-III) Examination, 2018

( Regular & Exempted )

INCOME TAX : LAW AND ACCOUNTS

Time : Three Hours] [Maximum Marks : 100

Note : Answer five questions in all. Question No.1 is

compulsory. Besides this, one question is to be

attempted from each unit.

dqy ik¡p iz'uksa ds mÙkj nhft,A izFke iz'u vfuok;Z gSA blds
vykok] izR;sd bdkbZ ls ,d iz'u fd;k tkuk gSA

1. Answer the following in brief : [4x10=40]

fuEufyf[kr ds la{ksi esa mÙkj nhft, %

(a) Explain the term 'Assessee'.

^djnkrk* 'kCn dks le>kb,A

(b) How is residential status of a Hindu Undivided

Family determined ?

,d fgUnw vfoHkkftr ifjokj dh fuoklh; fLFkfr dSls
fu/kkZfjr dh tkrh gS \

(c) What is 'Capital Asset' ?

iw¡th lEifÙk D;k gS \
[P.T.O.]2033/12000 (  12  )

'kq) ykHk
A' 1,80,000
B' 1,80,000
C' 1,80,000 5,40,000

9,64,300 9,64,300

(i) Depreciation admissible is Rs. 7,500.

ekU; gzkl 7,500 #i;s gSA

(ii) General expenses include Rs. 15,000 personal

expenses of partner 'A'.

lkekU; O;; esa lk>snkj 'A' ds futh O;; ds 15,000

#i;s 'kkfey gSaA

(iii) Rent and Tax includes rent of C's godown Rs.

1,800.

fdjk;k ,oa dj esa 'C' ds xksnke dk fdjk;k 1,800

#i;s 'kkfey gSA

Compute the 'Book Profit' and Taxable Income of the

firm. The firm fulfills the conditions of Section 184.

QeZ ds ^iqLrd ykHk* rFkk dj&;ksX; vk; dh x.kuk dhft,A
QeZ /kkjk 184 dh 'krksZa dks iwjk djrh gSA

----- x -----
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(d) What is the income tax treatment of pension

received by the widow of an employee ?

,d deZpkjh dh fo/kok dks feyus okyh isa'ku dk
vk;dj ds fy, D;k O;ogkj fd;k tkrk gS \

(e) Explain the provisions relating to 'Compensation

on Voluntary Retirement'.

^LosPNk ls vodk'k xzg.k djus ij {kfriwfrZ* ds
lEcU/k esa izko/kkuksa dks le>kb,A

(f) What do you understand by the 'Return of

Income' ? Explain.

^vk; ds fooj.k* ls vki D;k le>rs gSa \ le>kb,A

(g) Which losses can be carried forward ?

dkSu&dkSu lh gkfu;ksa dks vkxs ys tk;k tk ldrk gS \

(h) What deduction is available under Section 80GG

of the Income Tax Act ?

vk;dj vf/kfu;e dh /kkjk 80GG esa D;k dVkSrh
miyC/k gS \

(i) Mr. Mohan is a Government employee in Kanpur.

He has been provided an accomodation by the

Government. The rent of unfurnished

accomodation as per Government rules is Rs.

2,500 per month, but fair rental value is Rs. 10,000

2033/12000 (  11  )

Salaries 26,000 Discount 4,300
osru dVkSrh
Rent and taxes

fdjk;k ,oa dj 10,000
Reserve for bad 
debts 6,000

Mwcr _.k lap;
Depreciation 10,000
gkzl
Insurance 2,000
chek
Partner's salaries
lk>snkjksa dk osru
A' 66,000
B' 60,000 1,26,000
Commission
deh'ku
A' 20,000
C' 16,000 36,000
Interest on capital 
@ 12%
12% dh nj ls iw¡th 
ij C;kt

1,100

[P.T.O.]
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per month. His salary is Rs. 80,000 per month.

He has been provided furniture of the value of

Rs. 1,50,000. Rs. 500 per month is deducted from

his salary on account of this facility. Find out the

value of accomodation as a perquisite for the

purpose of Income Tax.

Jh eksgu dkuiqj esa ,d ljdkjh deZpkjh gSaA mUgsa
ljdkj us jgus ds fy, vkokl ns j[kk gSA ljdkjh
fu;eksa ds vuqlkj vlqlfTtr edku dk fdjk;k
2,500 #i;s izfrekg gS] ijUrq bldk mfpr fdjk;k
ewY; 10,000 #i;s ekfld gSA mldk ekfld osru
80,000 #i;s gSA mUgsa 1,50,000 #i;s ewY; dk QuhZpj
fn;k x;k gSA 500 #i;s izfrekg bl lqfo/kk ds fy,
mlds osru ls dkVs tkrs gSaA vk;dj ds fy, edku ds
vuqykHk dk ewY; Kkr dhft,A

(j) An assessee commences his business on the

following dates :

(i) 1st August, 2016

(ii) 1st March, 2017

(iii) 1st May, 2017

In each case, what will be his assessment year

and what period will be treated as his previous

year for the concened assessment year ?

[P.T.O.]2033/12000 (  10  )

osru esa ekfyd }kjk fudkys x;s 12,000 #i;s 'kkfey
gSaA

(iii) He deposited Rs. 20,000 in Public Provident Fund

Account.

mlus 20,000 #i;s lkoZtfud Hkfo"; fuf/k [kkrs esa
tek fd;s gSaA

UNIT-IV @ bdkbZ&IV

8. What are the various authorities envisaged in the Indian

Income Tax Law and what are their functions ? [15]

Hkkjrh; vk;dj fo/kku esa fdu&fdu izkf/kdkfj;ksa dk o.kZu
fd;k x;k gS rFkk muds D;k dk;Z gSa \

9. 'A' 'B' and 'C' are equal partners in a firm. 'C' is a sleeping

partner. Firm's Profit and Loss Account for the previous

year is as follows : [15]

'A' 'B' vkSj 'C' ,d QeZ esa cjkcj ds lk>snkj gSaA 'C' fuf"Ø;
lk>snkj gSaA xro"kZ ds fy, QeZ dk ykHk&gkfu [kkrk fuEu gS %

Rs./#- Rs./#-

General expenses 70,300 Gross Profit 9,50,000

lkekU; O;; ldy ykHk
Advertisement 8,000 Other receipts 10,000
foKkiu vU; izkfIr;k¡
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,d djnkrk viuk O;kikj fuEu frfFk;ksa dks izkjEHk
djrk gS %

(i) 1 vxLr] 2016

(ii) 1 ekpZ] 2017

(iii) 1 ebZ] 2017

izR;sd n'kk esa mldk dj&fu/kkZj.k o"kZ D;k gksxk vkSj
lEcfU/kr dj&fu/kkZj.k o"kZ ds fy, mlds xro"kZ dh
D;k vof/k gksxh \

UNIT-I @ bdkbZ&I

2. (a) Define the term 'Income'. Explain important

characteristics of income from income tax point

of view. [8+7=15]

^vk;* 'kCn dks ifjHkkf"kr dhft,A vk;dj ds nf̀"Vdks.k
ls vk; dh izeq[k fo'ks"krk,¡ crkb,A

(b) What is Partial Agricultural Income ? Explain.

va'kr% Ñf"k vk; D;k gS \ le>kb,A

3. Explain the provisions of Income Tax Act, 1961 regarding

the following : [8+7=15]

fuEufyf[kr ds lEcU/k esa vk;dj vf/kfu;e] 1961 ds izko/kkuksa
dk mYys[k dhft, %

(i) Gratuity

xszP;qbVh

2033/12000 (  9  )

  

Life Insurance 
premium on own 
life 1,100
Lo;a dk thou chek 
izhfe;e
Trade Tax 3,000
O;kikj dj
Depreciation
gzkl
House hold 
expenses 210
Z?kjsyw [kpZ
Net Profit
'kq) ykHk

4,05,360 4,05,360

2,400

3,50,200

Additional informations :

vfrfjä lwpuk,¡ %

(i) Depreciation admissible under the Income Tax Act

is Rs. 1,900.

vk;dj vf/kfu;e ds vUrxZr ekU; gzkl 1,900 #i;s
gSA

(ii) Salary includes Rs. 12,000 withdrawn by proprietor.

[P.T.O.]
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(ii) Facility of Motor Car

eksVj dkj dh lqfo/kk

(iii) Family pension

ikfjokfjd vk;

UNIT-II @ bdkbZ&II

4. Enumerate in brief the exemptions available under the

head capital gains. [15]

iw¡th ykHk 'kh"kZd ds vUrxZr miyC/k NwVksa ¼dVkSfr;ksa½ dk la{ksi
esa mYys[k dhft,A

5. Shri Ramesh owns a big house, the construction of which

was completed in May, 2015. 50% of the floor area is let

out for residential purposes on a monthly rent of Rs. 3,000,

25% of the floor area is used by the owner for his

business and remaining 25% of the floor area is utilised

for the purpose of his residence. Other particulars of

house are as follows : [15]

Jh jes'k ,d cM+s edku ds Lokeh gSaA ftldk fuekZ.k ebZ] 2015

esa iw.kZ gqvkA edku ds {ks=Qy dk 50% Hkkx 3,000 #i;s
ekfld fdjk;s ij jgus ds fy, ns fn;k x;kA 25% Hkkx edku
ds Lokeh }kjk vius O;kikj ds fy, vkSj 'ks"k 25% Hkkx vius
fuokl ds fy, iz;ksx gks jgk gSA edku ls lEcfU/kr vU; fooj.k
fuEufyf[kr gaS %

[P.T.O.]2033/12000 (  8  )

Advertisement Interest on 
Govt. Securities

foKkiu
ljdkjh izfrHk wfr;ksa 
ij C;kt

Income Tax
4,750

Dividend from 
an Indian 
Company

vk;dj
Hkkjrh; dEiuh ls 
ykHkka'k

Loss on sale of 
car 2,400

Interest on 
Saving Bank 
Account

dkj ds foØ; ij 
gkfu

cpr [kkrs ij 
C;kt

Interest on capital
iw¡th ij C;kt
Interest on bank 
loan 3,100
cSad _.k ij C;kt
Donation to 
approved 
Institution 300
vuqeksfnr laLFkk dks 
nku

5,000 5,000

2,000

3,000

2,000
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Rs./#-
Municipal valuation 
¼uxjikfydk ewY;kadu½
Fair rent 
¼mfpr fdjk;k½
Standard rent 
¼ekud fdjk;k½
Municipal Tax paid 
¼uxjikfydk dj pqqdk;k½
Repairs expenses
¼ejEer O;;½
Ground rent 
¼Hk wwfe fdjk;k½
Fire insurance premium 
¼vfXu chek izhfe;e½
Interest on loan taken for construction of house 
¼Hkou fuekZ.k ds fy, x;s _.k ij C;kt½

18,000

5,000

6,000

10,000

90,000

95,000

85,000

7,000

Compute the Taxable Income from House Property for

the Assessment Year 2017-18.

dj&fu/kkZj.k o"kZ 2017-18 ds fy,] edku lEifÙk ls dj;ksX;
vk; dh x.kuk dhft,A

2033/12000 (  7  )

UNIT-III @ bdkbZ&III

6. Write notes on the following : [8+7=15]

fuEufyf[kr ij fVIif.k;k¡ fyf[k, %

(i) Deemed Incomes

ekuh xbZ vk;as

(ii) Deduction under Section 80 C

/kkjk 80 C ds vUrxZr dVkSrh

7. Profit and Loss Account of Ram Narain for the year ended

March 31, 2017 is as follows. Ascertain his taxable income

for the Assessment Year 2017-18 :

31 ekpZ] 2017 dks lekIr gksus okys o"kZ ds Jh jkeukjk;.k dk
ykHk&gkfu [kkrk fuEu izdkj gSA dj&fu/kkZj.k o"kZ 2017-18 ds
fy, dj;ksX; vk; fu/kkZfjr dhft, %

  

Rs./#- Rs./#-
Salaries 21,600 Gross Profit 2,91,340
osru ldy ykHk
Sundry expenses 2,400 Discount 1,500
fofo/k O;; NwV
Reserve for bad 
debts 6,000 Commission 1,0,2,400

Mwcr _.k lap; deh'ku

Insurance 900 Sundry receipts 120

chek fofo/k izkfIr;k ¡

[P.T.O.]
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